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sri*ftqGdr
I E{r cr'r-.t,[ + M A sw es qs fruiRe rqm qt qq<I

rgmqroRRsq r
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t{fr gEHIfrurfril
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The following table gives the change in the year to

year sales (in percentage) of seven companies:

A, B, C, D, E, F, and G. (6.5)

Ctmfllttom PriorYc.r
Co|rrpen, Yas I Y.zrZ Yrzrt

11

(iii) Find out the degrees of freedom of the

explained, unexplained and total sum of
square. What is your observation regarding

the statistical signiflcance of the coefficient

of Profiled customers?

(o.) ffirrrr Mqsr d lrsqnql fr qrtcr dfrs flk
tqwqur ffiqur + i-s{ I qrer tfr rrt uk wge

frBq-dr* 6r frRn + qdT dfrql

(q) ffifte itft-+I A q{ vfi st cr{ c( cfr.rqr

ctum ffsr$ il sr{ wBc vt (stffm' ftfr) t qt(

*R €r{ qt (*$Fdr a66; il

,:s.rd..dsr otil
a oa..nr&c

) 3017

A
B
c
D
E

F
G

-t5
-.15

-185
-79.*
-19
-1.6
+7,4

-312
-{t.9
-315
-4&'
-:83
-tra
-tt6

+72
+21t
+219
+2,,-a
+t5
+3tl
+D:l

(i) a-1crhi qfi-*,{ulfrkc skaqil- *tu ffi
d qrsr dfrsr +i qqro} d qrsr ifrFdqt

(ii) q{rtu s0-5{or * ft'c # 6 ffi{ d
qsr 6tr
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(q) ie{ + frfrIr st( n{mffi i Rs vcsr c+d +
qrfr d qrqr otr qa ** sc+ff *?

(a) Explain the concept of Regression analysis and

describe in detail explained and unexplained
variations in the context of regression analysis.

(6.s )

(b) The following table shows the regression results
on the two variables X and Y. Y is dependent
variable (Annual sales) and X is independent
variable (Profiled Customers). (6)

(a) Define the following tools and then describe which
of the following graphical tools can depict this
data in an effioient manner and why: Histogram,
Bar Plot, Pie Chart, or Scatter Plot.

(b) What do you mean by hypothesis2 Is it necessary

to formulate hypothesis in every research study in
social sciences? (6)

frq ilR6r qrd 6cm: A, B, C, D, E, F flk c 6 frff
i crd-R-crf, a-rdrq (yrd{rd i1 ?d, i r

Chang!from Pdor Ytar
Compeoy Year, Ycar2 Yrar!

'3017
3
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A
B
c
D
E

F
c

-22'6
-45

-lt5
-29.4
- 1,9

-1.6
+7,4

-33t
-:1t.9
-3tJ
-48.1

-25.1
-37.t
-13.6

+7,t
+24.4

+24.9

+24.8

+125
+35.t

+291

(i) Write down the estimated equation and

explain the relation between the two
variables. Interpret both the coefficients.

(ii) Explain the goodness of fit of the estimated

equation.

(a') ffifur 3c-oturr* d cR{rkd 6i *r fr{ s!t{ qr
fr ffq +- t olq qr urfroa q* w ta d qrro

flt+ + frrBd rF( qr6'rrt i *t w]: Hqm, cR d,-c,

cr{ qrt, qr *er dur

(u) vfr+w+ * srq qqr <rfl+ *? wr qruft-o frFn+ +
9-€s, riru imaffi i qftq'ff{r tqn q'cqr irrqsq-6 *i
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2 (a) What is Rank Correlation? Write down its uses

with suitable example. (6.5 )

(b) Explain the mechanism of compound interest rate

with suitable example. If Bandana is investing

Rs. 10,000 in a bank A for five years. The interest

rate is 5 percent and is compounded yearly.

Calculate the interest amount earned at the end of

fifth year. (6)

(m) dtr qatrr wr *? sqgffi B-<rd{ur rsBd Ea+ 3c+rr

ftfusr

(ta) sqm rqr{rur qff{ a-*gtr ero qt * fflarEfu d
qrqr dfrqr wm qr<r qrq crf, * frs +6, c t
ro,0oo rqt qr fftsr qr tfi dnm Et 5 vRrrd t
*( qlffi{ w + dtud il cffi s{ + ffi t irFs-d

qrs nFr fr .ror< qir

(a) What is lnternal Rate of Return (IRR)? Write

down the steps to calculate it with suitable

example. (6)

(b) Consider two investments, A and B with the

following cash flows. (6.5 )

(b) Explain the MS Excel steps for Freezing and

Unfreezing of Headers. How is it useful?

(6.s)

(o-) <r'flstr qr tl ffifua {Effir cfonrl-- d qrcqt

otr

i)
,l

I

3

10 S.mple 2 0.41a ,0,6042.5 4.7

.0.6@

9.1 1302.8

5.1 722 10

-0,61)82.5 10

2.8 9.1 130

7,9 6-6 20

5.1 12.? 10
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(m) vrmrtRm frta (tstar{) d zrsm +t 6t? v*d
t Esff rpr<r q-d * q<q frfrsr

(€) cfr.rr+ ffiqrr + cfrs-d-{r ceqsr + <rq qrt q-6+

* frs EI q-Eq *? qRfirnr i zqq I *t enq n

3EA + verrcq (fr{ rcansl

Write short notes on any two of the following :

( 12.50)

(i) K urtosis

(ii) Time Value of Money

(iii) Primary and Secondary data

Fqfrtur n t A'A d qi sftR ffi ftftq:

(i) 6-4fr(

(ii) q-{ 6r ffiq ts

(ii) vMRm' *( Effe-*' +cr

(a) What is correlation? lnterpret the following
correlation results. (6)

Pcriod (Ycrn) Cssh Plow! ofA ($) C,3b Flow3 ofB (S)

0 -5.000 -5,01J0

1 1,000 0

2 2,000 0

3 2,000 4,000

I,500 1,000

5 1,000 2,500

Which investment is more profitable if the cost of
capital of both investments is 7 percent? Explain
with detailed steps.

(*') frr{ fr ilrffi+. q{ (ar{unsm1 wr *? scgffi r<r6tur

+ flq Eq-d zrqil s,r+ * q<ot d frft'ssr

(e) ffiRe r,IQ *-* * qly i frtsr, s st I yr

rqilR r[-tl

Pcriod (Ycrrr) Crlh flo$! of A ($) C.!h Flow! ofB (S)

0 -5,000 .5,000

I r,000 0

2 2,040 0

3 2,000 4,000

4 I,500 1,000

5 1,000 2,500
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cit{ {r ffA{r sD6 Hnrqrco. I qE +c} ff+ft- 6 tfr
6 arrn z cRsr< l? Cqc rnq] d qTq rceEsr

(a) What i's covariance? How we can calculate

covariance? Explain its uses. (6)

(b) The amount of monthly data usage by a sample of

l5 cell phone users (in MB) :

9.66, 5.90, 8.02, 5.7 9, 8.73, 3.82, 8.01, 8.35, 10.49,

6.68, 5.64, 4.08, 6.17, 9.91, 5.47

(i) Compute five-number summary of this

data.

(ii) Compute Z scores

(iii) Are there any outliers? Explain.

(iv) Are the data skewed? If so, how?

(v) What is the command for calculating Z-

scores in Excel for the above numbers?

(6. s)

(o.) rcmur wr *? f,q rurfiur d qsrnr ++ s{ (c't
*? Ef+ scm 61 v{artsr

(e) rs *o qt*scM* (s{ft +) * -t* qo 
"tm

gdt STqFI t6t ITAI :

9.66, 5.90, 8.02. 5.79, 8.73, 3.82, 8.01, 8.35,

10.49, 6.68, 5.64, 4.08, 6.17, 9.91, 5.47

(i) E( +cr + cr? $i* * fittrT d rrur<r qtr

(ii) 7 $< 6 ry1q1 6{1

(ii| er +€ sre.cem l? qrqr 6"c<n

(iv) wr tcr fr{or l? qtr Er, + +i?

(v) vvtn 1@rfl) + frs \*d t +s-dt fr
rrsr<r ?[,'ti * ftS.6cts f,r l?

(a) How to calculate Equated Monthly Installment

(EMI)? Write the steps to calculate it in Excel.

(6.5 )

(b) What are the steps to proceed with hypothesis

testing in regression analysis? Explain with

examples, Type I and Type ll errors in hypothesis.

(6)
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